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LIFE SCIENCE -
LSE-06 : DEVELOPMENTAL BIOLOGY

Time : 2 hours Maximum Marks : 50

Note: Answer Part I and Part II in separate answer
copies. Answer the questions as per instructions
given in each part. Draw well-labelled diagrams,
wherever necessary. ’ .

PART1
- (Plant Development)

Note : Question no. 1 is compulsory. Attempt any four
questions from questions no. 2 to 7. All questions
carry equal marks. '

1. (a) Fillin the blanks : ‘ 2
) ' of anther undergo meiotic
division.
(ii) During flowering stimulus is perceived
by
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(b) Select the correct word. 2

(i) Triple fusion results in the formation of
(embryo/endosperm).

(ii) Quiescent centre is a part of (shoot
apex/root apex).

(¢) State whether the following statements are
true or false : 1

(i) Synergids are the female gametes.

(i) Haploid plants can be produced in vitro
by culture of leaf protoplasts.

2. Write short notes on any #wo of the
following : 2x2é= 5
(a) Functions of tapetum

(b) Entomophily

(¢) Culture medium

(d Heartwood

3. Define any five of the following technical
terms : ” 5x1=5
(a) Polarity \

(b) Long-day plants

(¢) Cellular totipotency
(d) Obturator

(e) Exine

(f) Hydrochory
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5.

6.

7.‘

(a) What is dormancy ? Write briefly about the

(a) Vascular cambium and Cork cambium
(b) Phototropism and Geotropism

(¢) Zygotic polyembryony and  Nucellar
polyembryony

(d Monosporic and Tetrasporic type of embryo
sac development

factors that affect seed dormancy. 4
(b) What is somatic hybridization ? 1
(a) Describe the structure of .a 2-celled pollen

grain. ‘ ' 3
(b) Write  briefly about  gametophytic

self-incompatibility. 2
(a) Where are the following structures located ? 2

(i) Micropyle

(ii) Endothecium

(iii) Antipodal cells

(iv) Transmitting tissue
(b) Write a note on clonal propagation and its _
' importance. 3
Differentiate between any two of the
following : ‘ . 2x2§=5
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PART 11
(Animal Development)

Note: Question no. 8 is compulsory. Attempt any

four questions from questions no. 9 to 13.

8. (a) Fillin the blanks: 3x1=3

(i) The primary oocyte undergoes the first
meiotic division to produce a secondary

oocyte and a

(ii) The changes that occur in amphibians
during metamorphosis are due to the

hormonal secretions of gland.

(iii) The phenomenon of regeneration in
which the regenerated part is very
different from the one which is lost is

termed as

(b) Give one technical word for each of the
definitions given below : 2x1=2

(i) = Eggs with moderate amount of yolk.

(ii) The ability of a malignant cell to detach
itself from a tumour and establish

another tumour in a different site.
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9. Describe the interaction of amphibian hormones

in the process of metamorphosis. 5

10. Explain with the help of suitable examples the
role of nerves in regeneration of vertebrate limb. 5

11. Write notes on any fwo of the following : 2x2-;- =5
(a) Permissive interaction in the development of
mammalian pancreas
(b) Factors governing growth

(¢) Oogenesis in humans

12. Draw well labelled diagrams of any fwo from the
following : 2x2 —21- =5

(a) Stages in the acrosome reaction in a
mammalian sperm.

(b) Diagrammatic representation of gastrulation
in frog Xenopus laevis.

(¢) Stages in the development of chick cornea.
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13. Describe the different mechanisms that may be
responsible for the guided movement of cells

during morphogenesis.
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